
Homework #5 

Questions 1-3: Problems 12.9-12.11 Saddat’s "Power System Analysis" book 

 

 



Question 4: Assume the following parameters: 

K1=2.0   K2=1.0  K3=1.0  K4=2.0  T3=1.0 (s)  

K5= -0.1  K6=0.3  TR=0.02  (s) KA=100  H=5.0 (s) KD=0.0 

TW=10.0 (s) KSTAB=5 

1) Calculate KS(fd) and KD(fd) without PSS for 0.4Hz oscillation frequency. 

2) Design T1 and T2 for the PSS to satisfy both conditions below and prove your design by Bode plots about, 

e.g., GPSS(s) and GPSS(s)KAK2K3/(1+sT3) 

 At least +30o phase-lead compensation for the frequency range of 0.1Hz (0.63 rad/s) to 2.0Hz 

(6.3 rad/s) 

 Enabling a complete phase compensation for oscillation at the frequency of 0.4Hz. 

 


